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6.5 Graphs of Polar Equations

¥y =5c0s26

r =3+3cost

yr=3>5
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Types of Symmetry

1. The x-axis (polar axis)
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Symmetry Test for Polar Equations #s

The graph of a polar equation has the indicated symmetry if when
replaced you get an equivalent expression

Symmetry Replace By
1. The x-axis (polar axis) (r,0) (r,—0)or(—r,m—0)
2. The y-axis (r,0) (=r,=0)or(r,r—0)

3. The origin (the pole) (T,Q) (—?’,8)01’(1’”,9 + ﬂ')
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Find the Symmet ofL = 4 s1in 36 .
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Rose Curves = gsinnB

Analyze means find:
1. # of Petals

2. Length of Petals
3. Domain
4. Range

5. Symmetry

r=acosné
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1. # of Petals
r =3cos26
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# of Petals:

r =5s1n36
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2. Length of Petals =0 G e

Trace our Petals in the calculator /t

What do you find about the max and mins?

Length of Petals: s A \
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3. Domain/ 4. Range (= qqd.“?

What do you put into a polar equation? (Domain)

onges  dllrad S

What do you get out of a polar equation? (Range) [ ‘q‘ ‘4[‘
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5. Symmetry
r=13co0s260

r = 3sin 36 r=3cos56
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What do you conclude about their symmetry?
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Rose Curves o9

#
r=asin(hed (=auslne)

# of Petals: n, if n is odd
2n, if n is even
Length of Petals: |a|
Domain: All real Numbers
Range: [-|a], |a]]
Symmetry: n even, Symmetric about x, y -axis, and origin

nodd, r = gacosn@ symmetric about x-axis
nodd, » = gsinn@ Symmetric about y-axis
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Limagon Curves

pronounced: LEE-ma-sohn

C=a * bSihe-

= atbhcocs-

Analyzing means find:

1. Type
2. Domain
3. Range

4. Symmetry

Lima GoN
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1. Type

¥y =2+3sinf
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2/3 Domain and Range r=atfbelnt

What do you put into a polar equation? (Domain)
Ana\eS
What do you get out of a polar equation? (Range)

V" -longtw
Domain: a\ufﬂlﬂ'g

Range: L—“-b/m\;k
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4. Symmetry

r=3-3sin@ r=2+3sin@ r=4+cos@ r=3+2cosb

Y- 15 \ i \(.. Wi - w5

What do you conclude about their symmetry?
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i Curv
Domain: All real Numbers

Range: [a-b, a+b]

Symmetry: r = g + b cos @symmetric about x-axis
r = a =+ bsin @ symmetric about y-axis
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1. Type

y =2+3sin@
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Archimedes Curve

r=0




